BR

2

i3

CERMOHBEREICET L7 r—MRE (FBRE)
FaEP: 3¢
EURE: 184
B R EE 49%
SAEHIR: Em29F7H22B~FE/M29411A30H
TR DHRIE
X a2 n=18 FERLE
1. 50 AU EDT (K) S EERH Z) 0 0.0%
2. N\NO20B AL ESOBAEKEDT (X) (F1ZhEH) 0 0.0%
3. AO10AIZLLE20/F ARE DT (K) 14 77.8%
4. AO10AARFEDT (X) 2 11.1%
5. BT# 1 5.6%
6. EOE 1 5.6%
a i 18 100.0%

BHEREHE

X o n=18 R
1. B% 0 0.0%
2. A NEFAASE 0 0.0%
3. NHEEEE 0 0.0%
4. t £ RBREKREIAK 0 0.0%
5. EEEAN 15 83.3%
6. A 2 11.1%
7. TDih 0 0.0%
8. ERE 1 5.6%

& i 18 100.0%

MET# DFRE

0,
1,6% 0, 0% 0, 0%

1,5%

2,11%

14, 78%

E1. 50 AULEDTH(R) (BRSIEEATE)

E2. AO20F AL ES0RAKRFEDOT (R) (T
3. AO10AIZUE20F5 AEKEDTH (X)
4. A\AO10FAREDNT (X)

m5. BTHF

m6. ERE

0, 0% =
. 0, 0% Faﬁ EQIM( 0, 0%

. %

w2 A ARERE
3. AHIEEEE
4. = RIZEFRERK

m5 EEEA

m6. AN

m7. TNk

m8. EMEE




M4  EFRIfREREK

AT PR S

&

m1~4[K
m5~9fK
H10~14FK
155K~
mOJK

TR 28FERKF AR

m ~50%
B 50%~75%

3,17% m75%~90%

90% ~

fb
mEREE

FR28FEFIIEREH

m1H~5H

X 45 n=18 AL
5~O&K 7 38.9%
TO~14Fk 2 11.1%
15]3‘:,\, 5 27.8%
Ok 3 16.7%
Bit 18 100.0%
5  ZULVEEK
X & n=18 R
1 17 94.4%
2 0 0.0%
AR 1 5.6%
& &t 18 100.0%
5 —1 FH28EE
R R FI
X & n=18 Rkt
~50% 5 27.8%
50% ~ 75% 6 33.3%
75%~90% 1 5.6%
90% ~ 3 16.7%
mO% 3 16.7%
g &t 18 100.0%
FH R E
X 2 FERCLE
1H~5H 9 50.0%
6H~208 1 5.6%
10TH~ 1 >.6%
EO%E 3 16.7%
& &t 18 100.0%

m6H~20H

m21H~50H
51H~100H
m101H~

B ERZE



TRi29%6 8

RERFIEZE
X 7 n=18 FERLE
~50% 7 38.9%
50% ~ 75% 4 22.2%
75% ~ 90% 3 16.7%
909 ~ 1 5.6%
o] % 3 16.7%
& &t 18 100.0%
FEHERE A
X 7 n=18 BRI
1H~5H 10 55.6%
6H~20H 0 0.0%
21H~50H 2 11.1%
51H~100H 1 5.6%
101H ~ 2 11.1%
EEES 3 16.7%
& it 18 100.0%
e 2E#E
X5 n=18 FERCLE
A #l 5 17.2%
i #l 2 6.9%
RS 1 3.4%
[ BRHLE-UNEY 2 6.9%
iR #l 7 241%
EmAf 5 17.2%
T R 1 3.4%
S 2 6.9%
2R 2 6.9%
& o & 2 6.9%
& i 29 100.0%

1,5%

1,5%
2,11%

1,3%

ERL29% 6 AR FI A E

FHERBE R

H ~50%
m50%~75%
H75%~90%
90% ~
m R
m1H~5H
m6H~20H
m21H~50H
51H~100
H
BHEHE = H
m 5t =l
miE Mo
BRAMFEL-UNEY
miR il
mERAR
m RETRREL
mix B
BT O i

mE B &



7 BEIZDLT

2K
B8 3 ILAALEFFEDIERE EREBSBEOERS
E) n=18 FERLEL £ n=18 TBRLEL X7 n=18 BREE
~9 A 3 16.7% ~9 N 6 33.3% oA 6 33.3%
10A~19 A 5 27.8% 10A~19A 5 28% TA~5A 5 27.8%
20 A~29 X 2 11.1% 20 A~29 X 3 16.7% 6A~10AN 3 16.7%
30A~39 A 3 16.7% 30 A~39 A 0 0.0% 1T A~ 1 5.6%
40 A ~49 X 1 5.6% 40 A ~49 X 0 0.0% EEE 3 16.7%
50 A\ ~ 1 5.6% 50 A~ 1 5.6% &5 it 18 100.0%
L EES 3 16.7% S 3 16.7%
& &t 18 100.0% & &t 18 100.0%
i
BEZ JILBALE BN IERE EEROEDERBE
X% n=18 FERKLE X% n=18 FEREE X% n=18 FERKLE
1A 8 44.4% 1A 10 55.6% OA 13 72.2%
2N 4 22.2% 2N 3 16.7% 1A 0 0.0%
3A 2 11.1% 3A 0 0.0% 2N 0 0.0%
L EES 4 22.2% S 5 27.8% L EES 5 27.8%
& &t 18 100.0% & it 18 100.0% &5 it 18 100.0%
FiEem
B8 3 TILBALEFDIERE EEEBOERE
X5 n=18 B X5 n=18 ERkEE X5 n=18 R
TA~4N 5 27.8% TA~4N 7 38.9% (PN 5 27.8%
5A~9A 3 16.7% 5 A~9A 4 22.2% TA~4N 9 50.0%
10AN~14 N 3 16.7% 10A~14 N 2 11.1% 5A~9A 2 11.1%
15 A~19A 2 11.1% 15 A~19A 2 11.1% 10N~ 0 0.0%
20N ~24 N 2 11.1% 20 A ~24 X 1 5.6% 0] % 2 11.1%
25 N\~ 1 5.6% 25 N~ 0 0.0% 5 it 18 100.0%
L EES 2 11.1% S 2 11.1%
& it 18 100.0% & &t 18 100.0%




fi8

9

F AT DRER = (A28 )

X5 n=18 FERCLE
0.0 6 33.3%
0.0~5.0 3 16.7%
50~10.0 2 11.1%
10.0~15.0 2 11.1%
15.0~20.0 1 5.6%
20.0~ 2 11.1%
e 2 11.1%
& it 18 100.0%
By 3 55180 B Rl
EEm
X5 n=18 FERLE
~ 3508l 1 5.6%
35 ] ~ 40 [E] 0 0.0%
40R% fH 2 11.1%
40F5RE ~ 4 22.2%
EEE 11 61.1%
& &t 18 100.0%
FEEEED
X5 n=18 BRI
~ 350 1 5.6%
35 [ ~ 40H5 i 2 11.1%
A0REH] 11 61.1%
40RFR ~ 2 11.1%
A= 2 11.1%
& &t 18 100.0%

1,6%

5

BREAM DB

1,6%

m0.0
m0.0~5.0
m5.0~10.0
10.0~15.0
m15.0~20.0
m20.0~

fobe
m EEE

ST OB E S mh

B ~350%f]
m 35 ] ~ 40RF
m 40R%F 4
40BFfi] ~

fb
mEREE



10 FHEREEELE

X5 n=18 FEREE

1. B4 LLa—F—-BALH—F 11 50.0%
2. ICh—F 1 4.5%
3. HHE-TEE 8 36.4%
4. T 0 0.0%
5. FERREZEELTLVEL 0 0.0%
6. EMOZE 2 9.1%
& &t 22 100.0%

11 EESAFTEOEED S E

1. B LLa—F — 84 L

2. ICh—F

3. HENE-EEE

4. FDith

5. FEEHEEEELTLVEND
6. EEE

E$) n=18 BREE
1. BEBREIZKYEELTLNS 14 70.0%
2. FRIALDMA CHEIEH_EICKYEELTIVS 3 15.0%
3. T (ZA Lh—F) 1 5.0%
4, HEMOE 2 10.0%
& &t 20 100.0%
BrfE s @ DIBE S E

1. BEBREICKYBELTLS

2. LEALDG T TRESE

3. ZDM(BA LA—F)

o

5

10

15

FH i EE AR
0 2 4 6

(o]

12



12 A FgrfE s 58

TERE28ERE
EX:i X % n=18 R
0F5fE100% 5 27.8%
OFFMEI005 48 5RFMRI005) R jidi 1 5.6%
5EFfE100%> LA _E 10851005 3K it 1 5.6%
108551004 L1 _E 30B: 005> K i 0 0.0%
30FFE00% KL E 0 0.0%
BOZE 11 61.1% . ) N
& =T 18 100.0% ER28FEE FEBMD A FHEMENFTE
AT X & n=18 BREE ° ' ? ’ ! °
0F5fE100% 3 16.7% OB fE 0043
OFFfH0077 8 5RFREI00% K it 5 27.8% OBFR00S M 48 SBEREI00% ki
SEFfE1004> LA _E 10581005 R i 3 16.7% SEREI004 LA E 10BERH004 R m—
1031004 UL _E 30/ [E1005 R i 2 11.1% 1055004 LL L 3085000 R ne——
30FFR005 LL_E 2 11.1% 30BERH00A Ll L ee——
ZoE 3 16.7% FEO]E
& &t 18 100.0%
ER294%68
E&f X % n=18 R
0FfE100% 5 27.8%
OFME0077 48 5RFMI00% K i 1 5.6%
5EFfE100%> LL_E 10851009 K il 1 5.6%
10851005 LL_E 30851005 K i 0 0.0%
30 E007 L1 E 0 0.0%
o] 2 11 61.1% L2956 R FHEEND A F RS
& &t 18 100.0% o . , ; ,
F AT X % n=18 FEREE OB$REI00%>
0F5fE100% 3 16.7% OBFR004 48 SBEREI00% ki
OH#FHEIOOQE 5HFME00% K il 6 33.3% SEFRNI00%) Ll E 1085004 k5% n—
SH¢ 10097 LAE 0B [E10097 K i 2 11.1% 10B§ 10053 L1 E30BSRI00 K 75 ne—
10850047 LL_E 30RFFEI00 5 K i 3 16.7% JOBFI00A LU L e—
30RFE007 L1 E 2 11.1% P
EEES 2 11.1% AR ——
& &t 18 100.0%




13 KN FUDZINIZDNT

X A n=18 FERLEE sl Nis \
TAA LD —F— A1 Lh—F ICh—F OBy ZhoTIS 5 36.4% FEHOXHNDLT,
2. BERMEYICXIL-TLNS 5 22.7% )
3. FIREREIAROOSNTNABEIZRLTIK., FhE ERSERIZC DN TIEZ > TULVEL 0 0.0% 1. BA LLaA—F — 54 L E—
4. FRIAEREIN FEERDF-ESLS TS TULVEN 3 13.6% 2. RERREAY (23210 T - —
5. E#ﬁﬂl@ﬂﬁﬁ@ﬁ%%ﬁ%%ﬁh%%liﬁﬁ(:’é‘&)’ﬂ\é 2 9.1% 3. FIRESRIARDONT -
—_ ~ 0,
5. fszgﬁmn“ﬂﬁ*‘”“‘ g g 008 4. ERAERIAE DR m—
. . 0
8. #‘%@fé: 4 18.2% 5. £5HI O S O REE 4} - - -
5 B 22 100.0% 6. Brfsish HEIZDLNTIK -
7. 0O
8. E[EZE
14 FR29F6BDHHAHE TSR EMATERR
EEm X & n=18 ¥EREE Eff xREGEFEFRE
IO EINES 1 5.6% 0 2 4 6 8 10 12
S ] LA L 108 [E] K s 3 16.7% OBSRS LA L SEE RIS
10FF I UL E 15 R i 4 22.2% SEFRS L _E 1085 K
150 L E 0 0.0% 108 LA £ 15B5 RS -
AR 10 55.6% 15BERS AL
& &t 18 100.0% mE %
=g 1] X 7 n=18 R _ v
PN ELES 1 5.6% . Eﬁ%ﬁ %Eﬁffﬂfﬁﬁﬁfﬁﬂ . ; :
S5EFRE LI E10BFR R 5 27.8%
10RF R L E 1505 K i 4 22.2% OBFRSI LA ESEERISRE  —
15 L E 6 33.3% SEFRS LU E 108 R 5
EmOE 2 111% 1085 RS KL 15B5RS - -
& it 18 100.0% 1B LA E
FEZE ——




$g£29¢6ﬁw*ﬂ%%/%lll:a%(féﬁcﬁ&ﬁﬁaﬂ
[E=Ef X 5 n=18 R
I NSEILES 2 11.1% & AR
1B LA B 255 S R i 2 11.1% 0 2 4 6 8 10 12
2EEm L 3 ; 9
Engﬁisﬂﬁﬁaﬁsk:ﬁ ? 156-670/@ OBSFALLE 1BERAR Y e—
W 5 556‘;/ IBRA Ll E2BS RSk ne—
il S = U 2BSR L E3BERIRE  —
8 & 18 100.0% SEERTLL L —
mE %
EHHm X & n=18 B FEERT REEBER]
ORF B UL _E 1R R i 2 11.1% ;
1B UL E 2R R 9 50.0% 0 1 2 3. 4 5 6 7 8 9 10
28R UL E 3R R E 5 27.8% OB LA b 1R RSk 55
:fmyx 0 0.0% 1BERR 1L _E 2Bk
Hol= — 2 11-1{; 2BERA LA b 3BE RS SR
g &t 18 100.0% SBERSLLE
FEEZE —

15 Fri29F6 AISHITHEBHE T H o 2175615 E T DRI D & 52 F

EEm X & n=18 Bt
ORF ] LA E 5B FRI K i 1 5.6%
SEFfE LI E 10 R 5 0 0.0%
10 UL E 155 K 4 22.2%
150 L E 1 5.6%
EEES 12 66.7%
& &t 18 100.0% _
BN 751 e D == = R
E AT X & n=18 R
DN RNEISE S 7 11.1% etz s e m s
10BF B LLE 1505 R 8 44.4% OFf [l LA b 1085 MR 53
1505 B L1 _E 20M5 [k 2 11.1% 10B5fE LA B 15ES AR
ZOH#FEﬁl;JsJ: 3 16.7% 15EFE LA E20F5fERE  n————
%@% 3 16.7% ZOH#FE‘ﬂl/;Lﬂ: I
’éf E‘I’ 18 T00.0% FEOZE ——




16

17

TR2SEENEMATEAR B B
X % n=18 ¥R EE
80HXi# 1 5.6%
8O0HLIE100H X 2 11.1%
100BLLE120B X% 8 44 4%
1208 LI E140B %k 3 16.7%
1408 E 1 5.6%
EEIES 3 16.7%
& &t 18 100.0%
TR 28 FEEFRERKRBRRGE
= B X & n=18 BRI
0% 6 33.3%
0% 7#820% 3k ;i 0 0.0%
20% Ll E40% K% 0 0.0%
40% L) EF 60% K% 1 5.6%
60% L1 _E80% XK ik 0 0.0%
80% L1 _E 100% K ik 0 0.0%
100% 0 0.0%
o] 2 11 61.1%
& &t 18 100.0%
& AT X & n=18 BRI
0% 1 5.6%
0% LL_E20% ki 4 22.2%
20% L1 F40% K i 0 0.0%
40% L1 _F 60% K i 2 11.1%
60% L1 _E 80% kK i 4 22.2%
80% L1 E100% X ik 3 16.7%
100% 1 5.6%
EEES 3 16.7%
& &t 18 100.0%

FH2SERE ERIFERER

0 1 2 3 4 5 6 7

SOHXKH —

100HLLE120B kiF

1408 LI L —

0%
0% Ll E20% 3K

20% L) _E40% K
40% LA _E60% 3R
60% L) _E 80% ki
80% Ll _E100% 3
100%

i EIRAS

F 285 E FRAMIRRIGER

0.5 1 1.5 2 2.5

o
w
w
"
S




18 Eﬁﬁ%%‘d)*ﬂ?ﬁ%iﬁﬂg\%(:ﬁﬁ?éﬁﬁﬁﬁé ‘

X % n=18 FEREE & 2k 7@ 2 - J 53 e
1 Egu%%f&é 5 27 8% ﬂ?ﬂiﬂrﬁaﬂ = '»Eﬂj—éiﬁ'lknunﬂ
2. ;;;Eg%%ﬁéf&éf 4 22.2% o r 2z 3 4
3. PDEC AT IdETAR 4 22.2% mee
4. EEGERETEEL 2 11.1% 1 BRGRETHS
%@% _ 3 16.7% 3. HPFYEEALAEBETIEIAL ———

& it 18 100.0% ———

|mEE
Ri18-1 18 TIXRIF2LEELI-HE. SREER
X & n=9 B RLEE SRIER
1. BENeVVEEDRE. EORLDEO 7 24.1%
2. A\MDIER-EED=O 8 27.6% 0 2 4 6
3. BENEHZEBRERNID 4 13.8% 1. BOSWEBOEHR. BO--
4 BEDEROCAZILNILADHERE R EDT-H 3 10.3%
5 BEDIT—I54ATIN\TUAERDI=6 3 10.3% 3. BENEHKEREFRD-H ————
6. LRDEHECHHD 4 13.8% —
7. F0OM 0 0.0% 5. BENDT—054T/I\F R - e—
o] & 0 0.0% ——
& it 29 100.0% 7. T
f18-2 R18T3XIF4LMEL-BE. FHIER
X % n=6 BRLEE
1. K CREMNLGLV =0 4 57.1%
2. POBELHLIN ., BREDFEBETIELELESD 1 14.3%
3. BRI RICERYMBA TSI =& 1 14.3%
4. DM (BEMFRIEHEIN. BELGCEBNETLTLS) 1 14.3%
o] & 0 0.0%
& &t 7 100.0%




19 EHIRBRECEHT SRR

ffl20

21

X 45 n=18 B AR KR
1. YA TS 9 50.0%
2. RYFHA TV 6 33.3% 0 2 4 6 8 10
mEE 3 16.7% 1. YA TLS
& &t 18 100.0% 2. BYHATLOEL
KBEZ<TB. HKETVT,
-BEDIEE
AHMHERDOF-OH. EEODZA-HREDZ A,
- EEREOHRIE,

RAHADNEYPTNESICRICEEMEZER,

-BEEFTERENMIGLILERN, BR-NELEDRITKIRIRG TESRHTHS.
‘BBIREREERNPOELY, RYBEOT VL SBERREEIND,

- AHRARROBIBIEIRG, ZEDDEOENFFEREERE .

ERIcE#HETV. EEOFEMYZETOTLD,

ERZRHNEXLHBRUHBMELHE ICELTWET A

BEIZELTWS

X & n=18 B
1. ;ELTLVS 13 72 2% 0 2 4 6 8 10 12 14
i ZEKL;CM;L\ 3 16.7% 1 ELTLS
in\@l:l = — 2 111{: 2 5J§L'Cb\fd?l,\ EEEE———
& &f 18 100.0% FE%  m—
MERNEBE (CFRMLTLNET N, e FLEFR B D E &0
X % n=18 b
1. BEILTLA 13 72.2% 0 2 4 6 8 10 12 14
2. BICREIEL TV 3 16.7% 1. BHLTLS
3. ERAZERLTLELD 0 0.0% 2 HEZERLTUVAL  e—
ErAEEES 2 111% 3. BREMBIEERLTLAL
&5 it 18 100.0% MEE  —



22

123

fH523-1

B - A B @B 4 5 F F I E (361RTE) DIFFEIZ DT
X 7 n=18 FEREE
1. BAIEELGLDIGCHEL BT HECLND 9 50.0%
2 BRIEEEEDI-36mEZzimITE TS i 5.6%
3. 36 ELEMfaL TLIVELY 3 16.7%
o] 2 5 27.8%
a &t 18 100.0%
rTLEHYRIFSELTLED
X 7 n=18 FEREE
1. 5> THEY. . BELCELHD 1 5.6%
2. Mo TLBA ., BBL-CElFh 3 16.7%
3. COREBZETH-I-(SETH LI DT-) 12 66.7%
o] Z 2 11.1%
& &t 18 100.0%
TWESR I FZEITho -8
X & n=1 B [MA
1. ERICSEICLD 0 0.0% 0
2. &35 1 100.0% 1
3. HFEYSEITHLEL 0 0.0% 3
4. FoLKSEITLGBEL 0 0.0% 0
|MOZE 0 0.0% 0
& &t 1 100.0% 4

361 E D
0 2 4
1. BRIEELZLOI6HEEREITH:-
2. BRIKIEEENH-C6IELRE T =
3. 36HEEFMAELTLVALY  —————
O ——

f23-1~
ff123-4~
Fl:ﬁ24’\

10



fi23-2 TWEHYRITSEICRREIR—D-ERIE?

X AN n=1 BEtE [ A

1. I BEV—R5F27 | 0 0.0% 0
PIEE IR A E RS 1 100.0% 0
3. TSR IREDREIT 0 0.0% 1
4 TEHOFH O O—F] 0 0.0% 0
5 [FAQ ~K£<BHrHEaHE~] 0 0.0% 0
111::7_’34‘%%&1@.0)5’15%1 R 0 0.0% 0

7 [RICAEERID RN B s 0 0.0% 0
8. IRICIUBLIFE#HR DI EA{RFAICKSEUE | 0 0.0% 0
9. RICIABBHMIDIANVMHEEAS JVERERESICDOLNTY 0 0.0% 0
10. RIS HERBHRIDTEEEREIZH TEEFE] 0 0.0% 0
11. F1§2I_461ﬁ$I§J®F?%TSJEW,~0)|‘£Jﬁ§h§§3&%i¢§tya—1 0 0.0% 0
12. TNt 0 0.0% 1
EEES 0 0.0% 0
= i 1 100.0% 2

f123-3 TWEHYRITHEESETHRLLVERIE ?
fi23-4 TWEHR 1 ZAALSEHMYICHEYFELE=N?

E3 o n=3 BREE [ EnE

1. #ZBE AT H“mi@ﬁ#;ﬁ%hi"ﬂﬁzisﬁztza DN 1 25.0% 0
2. BEREFTEENoDIFS 1 25.0% 0
3. E E'?:"EJJ%‘G)TI‘\—A/\"—’)%EE'C 1 25.0% 0
4. EEBEZROFE -HME,. DI T YA A—ILIADUGEERT 1 25.0% 0
5. RFE-FIAGENALOODS 0 0.0% 0
6. TDh 0 0.0% 0
o] & 0 0.0% 1
= B 4 100.0% 1

24

TWEHRITTBALTEEALLD?

X & n=18 EREE
1. AL THLWY 1 5.6%
2. BNTBEERITLELY 1 5.6%
3. #BIr L=<y 11 61.1%
o] 2 5 27.8%

& &t 18 100.0%




125

126

f27

128

([ERGBREREIELA—]I2D

LT, fj?\?%l]'(‘bf:?ﬁ\ ?

BNBIRBICKECEELGNEEZ S0
T ARBHBRENEL>TLD

"BAETEHEPITNEIITEZD

ERARECHEMEHERT IMYBANHNIETHZ THRLL

"RBZRTIRELEW

ETFILEEADSMIZDOLNT?

X v n=18 R
1. ML THL-SMERTLE-L 0 0.0%
2. AbAHS FEEFELTHEL 1 5.6%
3. BILMEAEL-SINT 5DHYIE7ALY 12 66.7%
o] Z 5 27.8%

a st 18 100.0%

=

X 7 n=18 FEREE
1. I TICHALI=CELH D 0 0.0%
2. FIELI=CEIFHLD, FHRBEH->TLVS 1 5.6%
3. FALECEALL FHRBLHSLZLA, ZRIEEWN-CEAHD 3 16.7%
VAR 12 66.7%
% o] 2 2 11.1%
= i 18 100.0%
[EERHBREREIEL I—IOFAITOVTOERIE?
X % n=18 fERLEE
1. FALE=L 0 0.0%
2. FIFHT A EFRETLI-LY 1 5.6%
3. 5NECAHFIAIETEZTLVELY 14 77.8%
EEES 3 16.7%
= i 18 100.0%
ZTDERIE?




